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ABS HHgt
SUM, AVERAGE OIS0 &, At=87
PRODUCT ol4= &, product(11%12)
POWER power(3,2)=3>
SQRT ol9| M&=2
FACT factorial, FACT(4)=41=24
MOD LD XI, mod(10,4)=2
AUAECH I IS e FHE
INT
int(8.9)=8, int(-8.9)=-9
ROUND NEE K42 et2288 =X round(1.567,2)=1.57
NEE ANH=2 Z2HE HE S =Xt
ROUNDDOWN
rounddown(1.567,2)=1.56
NEE ANz 2HE S A
ROUNDUP
roundup(1.123,2)=1.13
TRUNC A 222 HelD 2. trunc(1.8)=1
EXP, LN, LOG Nz, Mz, 4227
PI A=82 gt pil)
DEGREES, DEGREE/180*pi=RADIAN, RADIAN(180)=3.14159,
RADIANS DEGREES(pi())=180
aF2tsta 2ICICHE O 2
COS,SIN,TAN . .
cos(randians(60))=0.5, tan(randians(45))=1
MIX, MEDIAN FAgh Zorgr ETNZ, EHuig
MAX, MODE ’
COUNT Ol S EZWAM =X SHJU= A2 i
COUNTA NEE A H220A <AL} EEAEE EZSSH Ao Il
COUNTBLANK NEE A HAUHAN B Aol I
COUNTIF NEE A H2AUA ZHS LHESH= Aol i




